Purpose: |
Why will this barometer |
work and this one not work?\‘
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#1 The atmosphere has pressure because

everywhere on earth has over 20 mlle tal %
pile of air over it @\.
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#2 Barometer 0

invented by Antonini Torricelli
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#3 There are five common pressure units

101300 pascals = 760. mm Hfj
101.3 kilopascals = T00- monHo

1.000 atmosphere = '}60. P Fb
760.torr = 00 ﬂ\vas»
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#4How to convert between pressure units.

Convey 1RO torr Yo “etm!
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ANswer: O,qfﬁ

#5 gluein

#6 vacuum demo
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This is class notes. Tape,

glue or staple it into your

notebook at the first opportunity!

Givens:

AP
ot

Find:

The sphere is The push from
motionless. the right
The left person is person.
pushing with 40 torr l
of pressure qo'fo\' §
40 torr ??
rGivens:_ .\.ar Tnd
The sphere is r The push
motionless. from the
Two of the people (J unmarked
have their pressure person.
shown.
80 torr - _L_50~torr_
[Givens: ~ Find: |
The sphere is The push
motionless. from the
Two of the pressures unmarked
are shown fan.

=

16 torr 5 torr

Givens: i

The liquid mercury is
motionless.

The gas in the box is
560 mmHg

The ambient pressure
is 520 mmHg.

Find:
The pressure, in mmHg, of the liquid

ma?@,’b =520+ #

[Givens
The liquid mercury is
motionless.

The pressure from the
raised liquid mercury is
118mmHg.

The ambient pressure
Lis 760torr (760mmHg). |

U0 = 18 « Flask

The pressure from the flask.

Flask= 420"
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